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8.1. G K K
gedG heK
ghg ' e K
8.1 (G,9) S G
(1) G=2,5=10,1,2,..., }.
(2) G=2Z,S=kZ (k=0,1,2,...)
3) G=2,5S=R.
(4) G = GL,(R), S = SL,(R)
SL,(R) = {A4; A € GL,(R),det A =1}

( )
8.2. 3 Ss {(1),(12)}
8.3. 63 S

gSg~' =15 (Vg€ &)
GE
8.4. 4 S, N (12)
(L) N (23), (34)
(2) N 6,
8.5. k H =kZ
x? y7 Z7w

x = y(mod H),z = w(mod H)
r+z=y+w(mod H)

8.6. G Z GRS
{(1),(12)} G T, Y, 2w
r =y(mod H),z = w(mod H)
xz = yw(mod H)

8.7. G N

:I;, y7 Z7w
z = y(mod N),z = w(mod N)

xz = yw(mod N)
1

det(A) #0 },
G =7
H
G
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8.8. G N G
g G/N 9]
G/N & ( G/N x G/N — G/N )
¢([z], [y]) = [xy]
( N
N
)
8.9. (G/N, ¢)
8.2. G N G/N
G N
G/N (+ or x) G
8.10. Z/300Z ([175] + [200]) + [50]
[150] + [z] = [0] x
8.11. G ~
G/ ~
ab=ab (a,b€ G;a a )
( an~xz,b~y ab = Ty
)
N={zxeG;, z~e}
G a~b a=0b(modN)
8.12 G N
(1) neN =y
(2) neN nr =y
8.13. N G N



